\Worhsheet 2 | Shakespeare’s Sonnets

Shakespeare’s sonnets are made up of three quatrains and a couplet.
That means that in each section line 1 rhymes with line 3 and line 2 rhymes
with line 4. The last two lines of the poem are a couplet which means
that they rhyme with each other. Keeping this in mind, can you guess
the missing rhyme words in this poem?

Shall | compare thee to a summer’s day?

Thou art more |ove|y and more temperate.
Rough winds do shake the o|or|ing buds of ____,
(hint: rhymes with "doy")

And summer’s lease hath all too shorta _____.

(hint: rhymes with “tfemperate”)

Sometimes too hot the eye of heaven shines,
And often is his go|o| comp|exion dimmed,
And every fair from fair sometime____ _ _,

B\// CI’]OI’]CQ or natures ChOﬂgiﬂg course_ — — . _;

By Jr|’1y eternal summer shall not fade
Nor lose possession of that fair thou ow'st,
Nor shall death brog thou wander'st in his __ __

When in eternal lines to time thou_______.

SO |ong as men can breoﬂﬁe Oor eyes can see,

So |ong lives this, and this gives life to_____.
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